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Algebra 2
ID: 1

Name___________________________________

  Period____Date________________
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Vertex and AOS

Identify the vertex and axis of symmetry of each.

1)  

  

y = 

   

−
1
4

  

x2 − 4

  

x − 17
2)  

  

y = 

   

x2 − 4

  

x − 2

3)  

  

y = 

 

−2

  

x2 − 16

  

x − 25 4)  

  

y = 

   

x2 − 18

  

x + 81

5)  

  

y = 

 

−2

  

x2 − 36

  

x − 159 6)  

  

y = 

 

2

  

x2 − 12

  

x + 24

-1-



©d T2v0f123M 8K6uQt3ac LSkohfztHwBaZrJeM YLGLfCm.A b ZAwlQlJ Nr9iNgFhkthsF urlejsyeOrxvPeKdw.m v bMjaFdVeD Uw2ittyhZ KI Jn6fCiFnuiVtqec ZAJlcgeeub1rZaE a27.b Worksheet by Kuta Software LLC

7)  

  

y = 

 

6

  

x2 + 12

  

x + 15 8)  

  

y = 

 

−

  

x2 − 6

  

x − 12

9)  

  

y = 

   

x2 + 2

  

x + 6 10)  

  

y = 

   

x2 + 12

  

x + 36

11)  

  

y = 

   

−
1
3

  

x2 + 

  

8
3

  

x + 

 

11
3

12)  

  

y = 

 

−13

  

x2 − 52

  

x − 51
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13)  

  

y = 

 

3

  

x2 − 24

  

x + 44 14)  

  

y = 

   

x2 + 14

  

x + 58

15)  

  

y = 

 

−

  

x2 + 2

  

x + 9 16)  

  

y = 

 

−4

  

x2 − 24

  

x − 46

17)  

  

y = 

 

11

  

x2 − 176

  

x + 695 18)  

  

y = 

   

x2 + 20

  

x + 91

19)  

  

y = 

 

−2

  

x2 + 28

  

x − 104 20)  

  

y = 

 

−3

  

x2 + 60

  

x − 299
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21)  

  

y = 

   

3
4

  

x2 − 15

  

x + 85
22)  

  

y = 

 

14

  

x2 − 280

  

x + 1403

23)  

  

y = 

 

4

  

x2 + 56

  

x + 206 24)  

  

y = 

 

−3

  

x2 + 8

25)  

  

y = 

 

−

  

x2 + 12

  

x − 33

-4-



©H D2J0s1S3S PKnuPt9aA cStoefutRw3amrReV CLBLJCU.4 9 EAklnl8 errimg1hotjsO UrTeOsIeJrhvoeFdL.u U bMCaUddes zwJi2tkhm JI unRfBihn9i9tueV gAjlUgielbxrfar X29.p Worksheet by Kuta Software LLC-5-

Answers to Vertex and AOS (ID: 1)

1)  Vertex: (−8, −1)
Axis of Sym.: 

  

x = −8
2)  Vertex: (2, −6)

Axis of Sym.: 

  

x = 2
3)  Vertex: (−4, 7)

Axis of Sym.: 

  

x = −4
4)  Vertex: (9, 0)

Axis of Sym.: 

  

x = 9
5)  Vertex: (−9, 3)

Axis of Sym.: 

  

x = −9
6)  Vertex: (3, 6)

Axis of Sym.: 

  

x = 3
7)  Vertex: (−1, 9)

Axis of Sym.: 

  

x = −1
8)  Vertex: (−3, −3)

Axis of Sym.: 

  

x = −3
9)  Vertex: (−1, 5)

Axis of Sym.: 

  

x = −1
10)  Vertex: (−6, 0)

Axis of Sym.: 

  

x = −6
11)  Vertex: (4, 9)

Axis of Sym.: 

  

x = 4
12)  Vertex: (−2, 1)

Axis of Sym.: 

  

x = −2
13)  Vertex: (4, −4)

Axis of Sym.: 

  

x = 4
14)  Vertex: (−7, 9)

Axis of Sym.: 

  

x = −7
15)  Vertex: (1, 10)

Axis of Sym.: 

  

x = 1
16)  Vertex: (−3, −10)

Axis of Sym.: 

  

x = −3
17)  Vertex: (8, −9)

Axis of Sym.: 

  

x = 8
18)  Vertex: (−10, −9)

Axis of Sym.: 

  

x = −10
19)  Vertex: (7, −6)

Axis of Sym.: 

  

x = 7
20)  Vertex: (10, 1)

Axis of Sym.: 

  

x = 10
21)  Vertex: (10, 10)

Axis of Sym.: 

  

x = 10
22)  Vertex: (10, 3)

Axis of Sym.: 

  

x = 10
23)  Vertex: (−7, 10)

Axis of Sym.: 

  

x = −7
24)  Vertex: (0, 8)

Axis of Sym.: 

  

x = 0
25)  Vertex: (6, 3)

Axis of Sym.: 

  

x = 6


